ETEIER L=184m

/
[AS

P

s

W=55(70)m

 KEARYIFLUOZBE 050 KZI L=1010m RZET L=858n
ABI KERRYIFLUZBE PLOS) L=8776n

S7

e . QI (HEBK)

. @H-450355 ot

AET *\igmn“t")z?_/g BE PEOS0 L=1097n
L=810n t8Y H=03n
( L=576n L4 Y H=10n
AT B LEm EHY H-06n

h

‘%‘L.f;j*#-
-K.\f‘"
 @ET (BE)  L00m Lt#Y H=06m
, __ IEI (EE) L6 &Y H=06n £
- L BT (REBR) (005 tHY HOn 1
5 ST KERRYIFLVZRE 050 =354 Eﬁﬁmﬁﬁiﬂ'\“ula’-pyzggoso ‘
N A @EI (RE] | L=10n £&Y H-08n
\/\:- =
) £ Y i
N . NS, e
N % = i
NN o | .
) N\ S
\ A oy \‘\ . ; :Z"‘; ",_}3"'
P13 BEZERF EEWELE R Bt a5, S
S BSHRY IR Bl 3R 2 g N X
=l 71?'\7_— _— -]
i L T = -
e y
vt )
L T\ . e T
Y = Toee .
e\ —~__
e » "-. [ ~——— -
—\ o SV P
A =
i mh = —— b2id
= B =
ﬁ s %
2 { o N}
| | ju]
NN “' 8
BN | [ —
= T = ]
= || ]‘ Z: )
T i = c:
<) =
e = | ~ B
| . BlE.
—= = ‘
| — 1
e
| \
]




50 SKXV 7y b (PxV)
P13 KERREZERSF FERIEMN LR
ZESHARY IR H=06m
®50x90°  SKXTJLAR (PxP)
~ ®50x90° SKXT LA (PxP

®50x90° SKXTILAK (PxP)

 050x90° SKXT ALK (PxP)

@50 SKXY 4y b (PP,

3 10
& [
> ( A
\ 3&/
I '\ o
\\‘ /%(
L S %(\* 01 BEEEH (050x 013 H KLMHKER)
AN <' [
\ p -
\ A : ;
Y : P50X90° SKKT LA (PxP
\ 2 | ®50 SKX U4 b (P xP
\3{ % i |
1 [ FERN | | P50x 90" SKXTALAK(PxV)
O50 SKXY 4y b (P xP L 050 SKKU Ay R (PxP) \ 478 ,' | ' |
= | E ' \
P50 SKXY &y k(PxP) | \

P50x90° SKKT LA (PXP) |

O50x90° SXTAKPxP) 13

A : il \;-(DSQ:{
PS0x 45" SKXTILR (P xP) 07,5._?%‘%%:’.1/*\,\;\ %n,@é \-\\\'P@W
i ] Jus
»‘Dﬂx45° _SKX:{:_)Lﬂ'lPxP) - -
s L BEERE ART | mEE
< ;F >




% 013 KERREZSS AGBENLEY

Z ESFARY IR H=0hn
\4’43 D50x90° SKXTJLARPxP)
\ D — -

\Z 050X 90" SKKTALA(PxP)

®50x 90"  SKXZJLA(PxP
®50 SKA Ay kPxP ! ’
G50 907 SKATJLARPxP) [
®50 KX 4y b PxP)

©50 KXV Ay hPxP

®50 x 90° SKXI}L/‘R(’PXV;

O50 SKkU 4y b (PxP)

O50x45° SKXTULHKPxP |

P50 45 SKXTJLA (PxP)

OS50 KAV b PxP |




EENE PR (FhE) $=1:20

g

160
100

As

500

ﬁg

FENEHBTERD (B8R ) S=1: 20

_dEE

160

500

ey N ]

7 o0 i S

+

Res-30 =3

=3 (=3

L= o~

2|7 +

a R+ =

......... =y

=S

Qm =

\PEQS0] Sf

¥y =y
500
81g

ﬂt o

= =

7

_________ g_x.

L e =

Qpeos| 2

' — 1 =y
500

EREEIRH PR (FE ) $=1:20

)

g5

1160
1100

As

500

e !
e W
o B
Reca-30
[ -]
L
2= et
Wt
:tv..PE(DSO
¥ —
500

540

200, 160

<

10066,100,

=

360

400

EEEE B3 ( EEERREK )S-1: 20

ASS— |

L

500

l=

T | ]
| P
. i, |
= St E.\
ON}]|| RS TEm S —— C>_,l'
. .3_'_
Qeeoso| St
=Y

500




